D&C  JRC:lmm

SECTION 221119
WATER SUPPLY ACCESSORIES

PART 1   GENERAL

1.01
SUBMITTALS


A.
Product Data:  Catalog sheets, specifications, dimensional data, and installation instructions for each item specified, excluding fasteners.

1.02
MAINTENANCE


A.
Special Tools:  Deliver to the Director’s Representative.



1.
Wall Hydrant T-Handle Locking Key:  One for each wall hydrant.



2.
Tools For Vandal Resistant Fasteners:  One for each type and size.

PART 2   PRODUCTS

2.01
AIR CHAMBERS


A.
Water Service Entrance:  Same piping material used for above ground domestic water system, complete with drain valve with hose bibb end at bottom of air chamber, and pet cock at top.



1.
Size:  Two times water service pipe size, not to exceed 6 inches, and 4’-0” minimum height.


B.
Distribution System:  Same piping material used for above ground domestic water system.



1.
Riser Air Chamber:  Extend riser full size to the ceiling above the highest branch run-out and cap.



2.
Branch Air Chamber:  Size 1-1/2 times the branch at the point of installation, and 18 inch minimum height.

2.02
WATER HAMMER ARRESTORS


A.
Hydropneumatically controlled with permanently sealed expansion chamber pre-charged with non-combustible gas, threaded connection, and conforming to ASME A112.26.1M - Water Hammer Arrestors, and ASSE 1010 - Water Hammer Arrestors.



1.
Bellows Type:  Stainless steel construction with elastomer or stainless steel bellows.



2.
Piston Type:  Hard drawn copper body with brass piston, cap and adapter; and elastomer seals.

2.03
HOSE BIBBS


A.
Compression type with polished chrome plated bronze body, renewable units, vacuum breaker with breakaway screw or vandal resistant fastener (ASSE 1011), removable T-handle, and integral threaded wall flange.



1.
Connections:  3/4 inch female threaded inlet, and 3/4 inch hose bibb outlet.

2.04
COMBINATION HOSE BIBBS

CHANGE “CHROME PLATED” TO “UNPLATED” IN PARAGRAPH BELOW WHEN DIRECTED BY DESIGNER.

A.
Exposed, compression type with chrome plated bronze body, renewable units, bucket hook, wall brace, rigid nozzle, vacuum breaker with breakaway screw or vandal resistant fastener (ASSE 1011), four arm indexed handles, integral stops, and integral threaded wall flanges.



1.
Connections:  1/2 inch eccentric threaded inlets on 8 inch centers, and 3/4 inch hose bibb outlet.



2.
Spout Length:  10 inches from wall to center of spout outlet.

2.05
DRAIN VALVE


A.
Cast brass body with renewable units, hose bibb vacuum breaker (ASSE 1011) with drainage feature, and removable cast iron handwheel with vandal resistant fastener.



1.
Valve must be completely assembled to make hose connection.

EDIT INLET SIZE IN SUBPARAGRAPH BELOW AS REQUIRED.


2.
Connections:  1/2 or 3/4 inch threaded or solder end inlet, and 3/4 inch hose bibb outlet.

2.06
FLUSH WALL HYDRANTS


A.
Non-freeze anti-siphon type with bronze body, polished nickel bronze or polished chrome bronze face plate, bronze operating parts, integral non-removable vacuum breaker (ASSE 1011), protruding valve stem and hose nozzle, renewable units, loose key operation, and conforming to ASME A112.21.3M - Hydrants for Utility and Maintenance Use.



1.
Connections:  3/4 inch female threaded or solder connection, or one inch male threaded inlet; and 3/4 inch hose bibb outlet.

2.07
RECESSED WALL HYDRANT


A.
Non-freeze anti-siphon type with bronze body, polished nickel bronze or polished chrome plated bronze hinged locking cover and exposed frame; integral non-removable vacuum breaker (ASSE 1011), renewable units, loose key operation, and conforming to ASME A112.21.3M - Hydrants for Utility and Maintenance Use.



1.
Connections:  3/4 inch female threaded or solder connection, or one inch male threaded inlet; and 3/4 inch hose bibb outlet.

2.08
FASTENERS


A.
Vandal Resistant Fasteners:  Torx head with center pin.

PART 3   EXECUTION

3.01
INSTALLATION


A.
Install the Work of this section in accordance with the manufacturer’s printed installation instructions, unless otherwise specified.


B.
Wall Hydrants:



1.
Installation Height:  Minimum 18 inches above finished grade.


C.
Secure external components in place with vandal resistant fasteners or devices which cannot be removed without special tools.

END OF SECTION

Updated 07/08/09

Printed 4/15/2015
221119- 3
Project No. 


